Quad Word day 3 November 30, 2017
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Quad Word day 3 November 30, 2017

2) Among all pairs of numbers whose sum is 100, find a pair whose product is as
large as possible. (Hint: express the product as a function of x)
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3) Among all rectangles that have a perimeter of 20 feet, find the dimensions of the
one with the largest area.
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4)

Find the area of the largest rectangle that can be inscribed in a right triangle with
legs of lengths 3 cm and 4 cm if two sides of the rectangle lie along the legs as
shown in the figure. (Hint: set the triangle with the right angle at the origin of a
graph and write the equation of the line containing the hypotenuse)




